














































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































In[ ]:= Clear[l, dl, r]

dl :=
l

1 -
r

2

-
l

1 +
r

2

;

Simplifyl2  dl

In[ ]:= l
1

r
-
r

4

Out[ ]= l
1

r

-
r

4

l
1

r
-
r

4

In[ ]:= l = 550 × 10-9;

r = 10-13;

Nl
1

r
-
r

4


Out[ ]= 5.5 × 10
6

In[ ]:= l = 550 × 10-9;

r = 10-7;

Nd = l
1

r
-
r

4


Out[ ]= 5.5

In[ ]:= Nd =
535 × 10-92

210 × 10-9


Out[ ]= 1.36298 × 10
-6

In[ ]:= l = 535 × 10-9

Nr =
-d

2 l
+ Sqrt

d2

4 l2
+
1

4


Out[ ]=

107

200000000

Out[ ]= 0.0946168
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